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The Solution set of H? + 8:!([ > —20-18.
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The sinE of a linear function w its y-intercepts is —2.
Which graph represents this function?
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Q'ue’stion No. 26

'Let f (x) be a one-to Dne functlon then g(x) 15 the mverse ﬁmctmn of (%) lf
0 (ﬁ)g)(x) =X only L .

o (fog)(t) # X and (gof)(t)lqéf Wl e
| ®Aog)(x)= x and (8o ) =x i
| © (Pog)(x) # ¥ onty |
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wmcn of, lhe followmg functmns IS one-to-one
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ki gy,
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iy | \ i
i S(x) =16 - x2 J‘b ’J |

o (X)) =-2x+5 [ o= A

| | @ fx)=5%2_1 P g




Question No. 9

The quotient 3— can be written as B
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Question Nu 18

e ——— ey

d‘f“andlmdt}mam ; Where f(x) = 31 6,g(x)=x—2

. © 1; all real numbers
l“,) 3, all real numbers
Qﬁ; all real numbers except x = 2

\) -3; all real numbers exceptx=23
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Question No, 20

The range of the function f(x) v 41 s
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Question No. 19

Find the domain and the range of the function f(x) ~ (x + 8)7 - 7

¢ Domamn (.8 =)range (.= =)
E#”0omamn (.= =) range | 7 =)

Domamn (-= =) range (.8 =)

Comam (.7 =jrange | .= =) »
Vev tE w

(-3, -3

D smain ~3
(=20 , =)\ -1
'P\aij_
[
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Question No. 15

| The function in the given figure is [
| Chart Area =

N

|
|

N
e}

ﬁ

wi -\

=
L1

= [ — \\

-10 -5 o0 / s 1lnl - I115= - #:u
10—
15

' increasing on the interval [0,10]

- constant on the interval [5, 5]
""'"c‘l'ecreasing on [—5,0]U[10,15]

decreasing on the interval [—9,16]
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Question No. 18

If f.(x)=£and g(x)=x+2,whatisg(f(4))?
_ ,\
j[ £ (4 » =9 (‘E{'
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Question No. 14

i
—s i =

Thedomainof f(x)=+/4xis ]

o e

f? ({],DD) ' b
Y OR\{®) | |

bs A%/
“ [0,%0) |
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Question No. 30

xX =
| @ =1 {
- X -_—'—3- L
ﬁ —
vwx=-3
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Question No. 8

The solutlon set of the equatlon r. (2:-: +5) = *2-is
9

g0
3 {5}
|‘e‘f{5}

_,{?}

/ 'l‘l+‘5) 3 15 ('7“'2

fsou-% = 5% e

1§ ¢ —ISx =30-75
2= ~15

“‘} ﬁnﬁ?ﬂ-‘:'.‘.‘:‘.**-—-w--m—., fevesh L LEEREEY
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Question No. 19

Which is the equation for this graph?

By R TR

U y=—x*—-2x-4 c
| @ ¥ =—%24 Zri4 a L

) },__:_xz_q.
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Question No. 30

2xt1 4
The solution of the exponential equation ( )

;"éf ('3 \'uu—l (5
| _2 0 . ..6—-..

T 2'\(-{*': -)
oA =-1-
Q= ~>

~ "‘3
oA & -
7 .
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| Question No. 16

| The slope of the line x= -3 is

il
¥
i
| @ -1

\ Féf Undefined

Ik 1
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5 Question No. 28

The range of the function f(x) = —2%*1 jg

(-, 0)

0 (0, o)
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Question No. 17

Wri ; g
rite the equation of the line passes through (-5,6), and prependicular to the line x = -

O -5x+6y=-2 -—‘ + \ "
‘S(:Z‘: S \/ /‘f

s g ld!

$

e
J=€

Scanned by CamScanner



Scanned by CamScanner



C ne =) (fi-ﬁ-s)
IS =Y+
¢ oL~ (')(-\—5)
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' Question No. 10

|

i The range of f(x) = ~x'is

Q (—o,—1]
© (0, )
= (—,0]
© [, «)
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Maths Sem2 Q2 2015-16

Cuestion No 16

fx)= vze2 andglr) = 3x- 5. Find k{x)= (/" g)x)
,** 1} = x‘!'I_‘-; /
W j (X) = j v
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Question No, 12 or
Give the slope of the fine 4y - 8x + 28 “D " B

Scanned by CamScanner



e,

Scanned by CamScanner



